
Answer on Question #53504, Physics / Mechanics | Kinematics | Dynamics 

 

Jed was driving his car at 40 km/h on a subdivision where the speed limit is 20 km/h. He was 

spotted by an officer in a motorcycle, who accelerates in pursuit. By the time Jed sees the officer's 

motorcycle it as travelling at 60 km/h. What is the officer's motorcycle's velocity relative to Jed's 

car? 

 

Solution: 

The velocity of one body relative to another is called its relative velocity. 

𝑉𝑟𝑒𝑙𝑎𝑙𝑡𝑖𝑣𝑒 = 𝑉𝑜𝑏𝑗𝑒𝑐𝑡 − 𝑉𝑜𝑏𝑠𝑒𝑟𝑣𝑒𝑟 

In our case 

𝑉𝑜𝑏𝑗𝑒𝑐𝑡 = 60 km/h 

𝑉𝑜𝑏𝑠𝑒𝑟𝑣𝑒𝑟 = 40 km/h 

 

Thus, 

𝑉𝑟𝑒𝑙𝑎𝑙𝑡𝑖𝑣𝑒 = 60 − 40 = 20 km/h  

 

Answer:  20 km/h 
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